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QUESTION 1

Which of the following objects can be analyzed in the Object List of the Object Navigator (SE80)? (Choose two) 

A. The authorizations required to execute a program. 

B. The database tables that are accessed by the program. 

C. The data objects used by the program. 

D. The Include programs of the program (for example, Top-Include). 

Correct Answer: CD 

 

QUESTION 2

How long are local system log entries kept available in SM21? 

A. Until the next system restart 

B. Until the entry is overwritten (circular file) 

C. Until the name of the system log file is changed manually 

D. Until the records are replicated to the central system log (usually after one hour) 

Correct Answer: B 

 

QUESTION 3

Assume your SAP Note Search yielded a very large number of results. Which of the following criteria are possibilities for
narrowing down the search? (Choose two) 

A. More search terms 

B. Fewer search terms 

C. The customer name as a search term 

D. More search criteria 

Correct Answer: AC 

 

QUESTION 4

What does it mean if a SELECT statement comes back with a sy-subrc = 4? (Choose two) 

A. The system has read exactly four entries from the database table. 

C_PXSUP_90 PDF Dumps | C_PXSUP_90 VCE Dumps | C_PXSUP_90 Braindumps                                2 / 3

https://www.pass2lead.com/c_pxsup_90.html
https://www.pass2lead.com/c_pxsup_90.html
https://www.pass2lead.com/c_pxsup_90.html


https://www.pass2lead.com/c_pxsup_90.html
2024 Latest pass2lead C_PXSUP_90 PDF and VCE dumps Download

B. The system has not read any entries from the database table. 

C. The execution of the SELECT statement failed because of an incomplete WHERE-Clause. 

D. The SELECT statement has been executed successfully without error. 

Correct Answer: BD 

 

QUESTION 5

Which one of the following transactions is the right one to analyze the contents of a database table? 

A. SE11 

B. SE16 

C. SE24 

D. SE30 

Correct Answer: B 
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